o0&

USE

27} old A

mlo

L5

i

o},

© A% x o] ok A%y A
@ ZAAS x 9k 3 9 FHAFHlSy
@A x ot Amad 2y
Qxh:Hgko] ol 2= y

® A% x o] 4112 5y

x 9] Zholl whet y <] gro] PR AR 9k @4t ok,




© -8 @ -7

O

@ 3

® -3




=192 o, £(=3) - £(0) 9] FH-?
@® 2 @ 4 3)6 o N
F3) = —6+a=1

a:7

f(=3) =13, f(0) =7

F3)— f(0) =137 =6




4 f(x) = x+ 1004 o] =] kseghol 1, 2, 3 4w, x 9 27

D12 3 @ -1, -2, -3 @0, 1, 2
@0, -1, -2 ® 1,2

x+1=1 - x=0
x+1=2 .. x=1
x+1=3 .. x=2

wrakA x 9] g2 0,1,20]tt.




?

LSS
.

919] = A A,B Aol ] A

@ 4 ® 6 @)8 ® 10
‘ T A Atol9 AgE 5 - (-3) = 80|t

D 2




2), B(=2, -2), C(x,
AHel d “ﬂxyﬂk 7}7} Fstodet,

¥), D(2.2) 7+ A

A A, B, D 2 #FEHdo| Yehd ohg} Zoh,

yl\
A 2 D
=2l 0 P
1
1
B s R ®

oluf], A}z ABCD 7} A R o] &7] 9l
# C 9] sEE O, -2) °Ir.
Lx=2,y=-2




;> r_EL

CER P
g Ho]ﬂ?l 3(2 B(-4, 0), C(1, =
L)) f}) £ BAHOR o}
= 16 E]- ( a<
9] o, a °] FS o o, 0)

rr




8.

A Ax, y)7FA 1AREE 919 L off, o2 B S P =S A
w5 Zetet
B

@ xy>0 © x+y>0

© x-y<0 ® —-x+y<0

> E

> E:

> EE: 9

> O

flo

~&B

Ax, )7t ALAER $le] Holmg
x>0,y>0

Qxy>0

Ox+y>0

©x-y>0¢ & 3t}

@ -x+y>04 = Ut

P4 g2 e @, Ol




A Aab, a—b)7t Al 3AMEHO AL of, th& F Al 4AHEH £19]
09

=i .

® B(b-a, b) @ C(a, b) ® D(ab, 0)
@)E(-ab, a) ® F(0, 0)

B

ab<0,a—-b<0°A a, b=5357IHE2 a < bO|ERE a <0,
b>0

@ Al 1AHEH

@ A 2AHEH

Q@ x=

@ A| 4AHEH

® ¥4




10.

= f(x)7F A4 xolste] 2429 7l w, f(35) - f(20)
of #2?

o2 @3 ® 6 @ 8 ® 10

350|359 A4 Y% 23,5,7,11,13,17,19,23,29,31 | B 2
£(35) =11,
20°]5}9] A4 2,3,5,7,11,13,17, 190 22 £(20) = 8

S f(35)—f(20)=11-8=3




11. #HEHA Y AD, E, FO A2 F x+y9
ol 714 £ 42 D, E, F SollA Zatet.

B

HE=y= 99 Holung x =00°]|t}.
D(-2, 4), E(0, -3), F(4, —4)°|2&

x—l—yﬂ%l%
D:-2+4=2
E:0-3=-3

F:4-4=02 7} 2 H-& Dojt}.




12. ZHEHW 919 A G A,B,C Y R37} ot 22 ), sABC O §
olg Fotul?

A

—~

-2,2),B(2,4),C(0,-2)

@ 6 @ 8 3®)10 @ 12 ® 14

B

(AABCS] Hol) = (A 2] Hel) - (D+ @+ 3)
:4x6—<%x4x2+%x4x2+%x2x6)
=24-14=10




13. the 3 A 4 AHRE 919 AL BE

2 A7t

®x>01y>0 (x, )
@x<07y<OaOE1 (X _y)
D x>0y>0,49 (x, -y
O 27 @3711 @47 @57 O 67

A 4 4L SBE 237 (+, ) elmz (2, -1), (3,

, x>0,y >0,

d

(x, —y)F 3 7Holh.

1 1

2’ 2

)




14.

A (ab, a—b)= A2AREHE] Hol1L
ol tf A (ac, bd)= Al B AHEHE] HA7F?

ot

@A Ew
@ A2At
@ A3AL
@ A4At
® oL AREH

s
re

M
i,

fal

M

&=

—‘—o}-Z] orL

Z—](

3, c+d)E A4AHEA ]

~&B

Holrt.

(ab, a—b)7} A2 AHEH 9]19] FolB=E
ab < 0,a—b > 09X a, b= A2 THE 59
a-b>00]R=& g>0,b<00°]|tt.

(&, e+ d) AR 9Jo] Folmz
A>0,c+d<09A4 ¢>00]2 d < 0°]Th
w2, ac > 0, bd > 00122 3 (ac, bd)-=

o}

s
F 4=

o

()

A1 AR 919]




15.

Xl < 2.1 < 28 TEH A4 x, yE BAYOR Fhof WE 5 Y
A7 o) A4 Fotu?

@ 7074 @ 727 @ 7470 @®)76 7R ® 7870

x| <2¢]l AFolBR x=-1,0,1
bl <29 FFolB2 x = -1,0,1
xyE Ao BR 0|21 A EP W Ll E oot 2ot
Y
. 1 .
-1 0 1
o —] o
ZE P o Hol 97| B= 9] A FollA 37]12 el
shel g47t9e ws 4 ok 2y A4 o 9 A 35
L A47Ye BHEA BEE BE £k 479 ASE
IX8XT
—-8=84-8="T6(7])°
Ix2x1 ( H) et




